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Il	 potenziale	 a	 gobba	 di	 cammello	 della	 trappola	 magnetica	 funziona	 come	 un	 oscillatore
unidimensionale.	Ciò	vuol	dire	che	se	si	allontana	di	poco	la	grafite	dalla	posizione	di	equilibrio
lungo	l'asse	
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6.	
7.	 HB/0.3,	HB/0.5,	HB/0.7,	e	HB/0.9.

Prendi	nota	delle	costanti	e	dei	dati	per	il	calcolo	degli	esatti	diametri.	Puoi	aver	bisogno
di	rompere	le	sbarrette	di	grafite	riducendole	alla	lunghezza	richiesta	dal	problema.
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Si	osserva	che	l'oscillazione	della	barra	di	grafite	è	frenata	dall'attrito	con	l'aria.	Si	vuole	capire
qual	è	la	dipendenza	dell'attrito	dalla	forma	della	sbarretta	di	grafite	(diametro	e	lunghezza)	per
stimare	la	viscosità	dell'aria	 .
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